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1. doq erdoqJltood dgsdc d, {{ {Erol)O- $r}iodd o8o doa&d t d.D oiDOdc OLi

eo-Ad){)d) esarAdddl Oed dDcfi#drdco dJeod otDodc dned dod> arcdd oddl &GCd)m

oairedd do{oeeEod tJed {d.tO}tolJil..ddol)d rdJd

2. 9 .t dE6o$ ddrd tacd & B, C ed-a Dobdi (OMR) qugd dgrqrrd- €darn e"dHcnhd:J
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5. iera_ gtgdrudi 0drrl ?"dffi)d t-no. rrc,6. e Ed dqdo1, aadoJr Jccd d{5 o$o O(O sadro$ zrDef

6d@)ottr dqOod tudcdr dJadde*. ?.od) ded aod.: {d;1 r.od{od daifl ddgrlddi CjgF SaaO_/
ddtrd.,grldd{CJ3F dDAdO_/ o{r J6lrlCdltlSF d.DAdO-otDdrde oodrlddi Ocdcrarbd)6o.{

6. g8".rldr dd4d $dl rro{ Aadobo_&dd. dd..d {,ddrlerd_ lodcd eruotrodd. dobeuDa, erorl padol>

{, J'ldd{d$adJod).

7. doqob dDeoirJdi n/adild rrog$ +ou, araond dli$Je (oMR) gl{d Sgdotd eo;dlde tud)d)
;rD6odd{ ooj3dcdJ. d,-odAo$ d)eod?.Ddd& aod) odJoo_dJd (OMR) s\Ed dgrobd{ ddL Jddd
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dgtobdi A(Ad dodd 0rg doep d-odBo>od dnd doerta)dcd.:.
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1. The capacity to do the work is called as
(A) Power (B) Force

Seri d>dH nJ,:dre
(o) radrflrr (a)) a)e)

Acid rain causes

(A) Noise pollution
(C) Thermal pollution

er$- dJ{ eddJ.rouJdDdrg d
(n) du.daod,
(d) 6a) *aodd

(C) Strength (D) Enerry

(d) d.ddj (d) dE

(B) Air pollution
(D) Soil pollution

Weathering is a process of
(A) Soil formation
(C) Mineral formation

tQoeddmdodd

(e) $ealsudj
(d) oorg.ocdj

A mineral is a
(A) Organic substance
(C) Chemical substance

a)ozrdt r"od-r

(rr) DJold di)
(?,i) oasob&d dtu

aaoiu d>Od,
Jrtar doOd-tal)

Rock formation
Crystal formation

8en or33

ddcb sudj

Inorga-nic substance
Artifrcial substance

flilHlill]lIllililI

(at)

(d)

2

4

3
(B)

(D)

6

Blue Baby Syndrome is caused by which pollution
(A) CO (B) Flourine
(C) Nitrate (D) Mercury

ara_ dea :,od-rgd, edood D6,gd
(t,) rdDFd dDurd^,d (a)) {F_oed
(d) d.rgetr€ (d) Eaddn

(t)
(d)

(B)

(D)

Oddobd J-r)
d dd Ji)

B 3/16

(ar)

(d)

P.T.O.

\e 5. Endosulphan is
(A) Weedicide (B) Pesticide (C) Rodenticide (D) Herbicide

aod./aedero dr6 ?.odJ
c)

((,) ddoadd (D) &ed oadd (d) dodd NDdd (d) iiooadd
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The water crisis between Tarnil Nadu and Kamataka is for
(A) Kumudwathi (B) Kaveri
(C) Krishna (D) Kapila

dnnreJd 6-art/a dsr$oead drCd qdrd 6e) $rod eddr ioDoQnd

(e) drd)dd.g &eorDn (u) daJeo &eonen

(tJ) d*0eonDn (d) dserD Oeoron

lilililriltilil]ilt

8 Liquified petroleum gas consists of
(A) Metl:ane + Propane
(C) Butane + AcetJrlene

Odd,d dt&a.edobo ro-trdd
ol t, ) d

(ll) $ded + {gedeo6
(d) ar.odtjed5 + s3€.3ded

Methane + Butane
Butane + Propane

$-reflen:6 + araotJeoo

amdtjed,s + {geded

(B)

(D)

ed
(ar)

(d)

9. The basic functional unit in ecologr is
(A) organism (B) environment (C) ecosystem (D) earth

(s) des

eEaodo$ 5d/dtud deobF&ddf-dd erorl

(at) dodd (si) doid d6jn@ (d) qlns)

12. T\e living beings which depend on other living beings for food are called 

-.

(A) autotrophs (B) heterotrophs
(C) chemotrophs (D) epiphytes

tr-adaa*h edd de$riddt sdooar,&d decdddt &etld.tJry d.

((,) -toriD.rdddJ (u) 4dFBeA, desrlctJ

(rJ) @Dob0d {oe&l desrietr (d) t djidrlC)

B 4/16

10. the term "Eco system" was first coined by _.
(A) E.P. Odum (B) S.A. Forbes
(C) Karl Mobius (D) A.G. Tansley

Eddr d,d$ areod "sd.oe:ddt'" ddd& odor,ocnndd)oi .t

((,) e.$. Ldd, (a) if.a {raa*F
(tJ) aaelr dae6otrr6 (d) D.A. Ure6d,{,,e

I l. The dead and decaying organisms after their decomposition form 

-.

(A) litter (B) soil (C) humus (D) vermicompost

dcSris, fg ddeodrrleb daddc ouotorbd da-aSr

(e) d#4. (u) drD.a (ar) d.od$:f (d) odtfcat;J
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- 13. One of the following 1S nO an exam for grazing food chain.
(,{) Green plants -+ grasshoppet -+ llzard -+ hawk
(B) Zooplankton -+ small Iishes + large frshes -+ whale
(C) Seeds --+ rodents -+ snakes -+ hawk
(D) Grass -+ deer -+ tiger

e{rrido_a"od: dreolDd e6-dol) idddrt eruoadddoJrer-

(e) d:,$i+rld.r -+$dd -+ dd -+ hdrri

fo) o,elldJdridr -+ iea tu(drri$ -+ d,od eredrrlcb -+ S,xrorlei
ti, G

(?4 Aeturl$ -+ dotdrieb -+ ra{rleio -+ fld:rl
(d) d;eu--+ dod + d:O

14. Succession beginning on an originally barren area is called
(B) primary succession
(D) allogenicsuccession

fl lilIllrll Illillllllll

aod.r ddobead.

Olericulture

l-deD derd
?t

15. Identi$ the manmade ecosystem
(4 Aquarium (B) River

dDdd oarFd doid ddd{obd{rbdgn
(e) $edJg.otr"r (ar) dA

(C) Stream (D) Ocean

(d) d.od (d) Farld

16. In a parasitic food chain which trophic level is represented by bugs and lices

raAd d0dd drd-;,oirdSrid $& dedrrlcb otnd {pe:.;raa{ddqd,.oddJgd?

(A) 14 (B) 13 (c) T2 (D) r'

17. Which is a primary consumer?

(A) Scavengers (B) Saprophyte (C) Carnivore (D) Herbivore

oln$dc a9f,tud ?.rdddr

(u) aoroddr (ar) d,nd3otier.: (zJ) dDo;Daao (d) iraraao

(4 autogenicsuccession
(C) secondarysuccession

18, Forest Management is related to
(A) Sericulture (B) Silviculture (C)

6aAd &dF.ddob 

-d 

iouoa:rd

(u) de{dra (ar) dd, dr& (d)

-a/Ca)ddDn a)d6rnd)J dodo-ddolDd sdJdrdr rDddi

(u) {of:o d.raOol: od;drd:eo

(d) q3(ob t,dJdrdrrD

(o) mrds:d erdr$il$
(d) dd dJ.oooJJ rrdrr$s!

Apiculture

dedJ d.)&

(D)

(d)

B sl16 P.T.O,
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19. Plants which grow in salt deserts are known as

(A) Xeroph5rtes (B) Halophytes (C) Helophytes (D) Pelophltes

drdrqrrerobO- dal olDd iid r'i ddi rdrddJ

(rr) E"Sd,oe-c,.,ut (u) 6adei,o6.,0* (d) 3oeelrec.]ul (d) &eelr6.,ts

2O. The Red data book is published and updated by
(A) International Union for Conservation of Nature (IUCN) and natural

resources
(B) NGOs of local area
(c) crrEs
(D) Govt. of India

dd 6aU dndd {,E}dddJ dJd,l dsedDiDOd.)

(s) soddoD$on ob.o0olrd qad dod^drdd tr.ir< dedd trod dD?,drde, 0-,n osf F

(D) -aJde8d rd.d.t .rlcir

(?4 n.€c.t3.e.nt'.

(d) cradd BdaFd

21. Shola is
(A) T?re vegetation of valley
(C) Plants grow near sea coast

d-oeen ad.1$dr

(e) dsddob 6ed,)

(d) ndlr{,.reddqddolDi i+rldr

22. Gene banks are example for
(A) In siru conservation
(C) Botanica-l gardens

Gene zrarodcrid,.r eddr currddd

(tl) ed;dernoddd
(t3) nirodemdd

Coniferous forest

Endangered species

(B)

(D)

(a) $d-oeo drdrld.{ EDdJ

(d) sNadd soddo_&d ded {,d$

(B) Ex situ conservation
(D) 7-oo

(a,)

(d)
dod dd iod(d

oJrtC iorIdrdaoolJ

23. Example for Biopiracy of Indian phytodiversity
(A) Ficus (B) lotus (C) Basmati

qraddd iirdr$frd ?SeJd-qen- rl ed8d sucDddd

(o) eldoC (at) add (al) ?,D"^Ue

(D) Sugarcane

B 6/16

(d) dur,
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24. Biodiversity is more in
(A) terrestrialhabitats
(C) marine habitats

dcd d.,Sddd eqdderd

((,) ClDsroir &ed
(d) nil)q,d derrldo-

26. Gir National Park is located in
(A) Gujarat state
(C) Uttaranchal state

nd oeffob oroonddr

(e) rbaoad oaqdO_d

(rJ) or.Joaodet oaqdo-d

27 . Penicillium derivation is al example for
(A) Ethical value
(C) Consumptive value

do$Ootrc suta"Jdd qddd cl)ddddd

(u) oa$rrd dPo,
(d) add drod

(B) fresh water habitats
(D) desert habitat

(a)
(d)

n& &eod deJrido

ildJdosro$ derrlaJo

I ilflffit il il lll]il ilrlilltil{

25. Species diversity is
(A) variety and abundance of different organisms inhabit in an area
(B) variety of different organisms inhabit in al area
(C) total members in a species in an area
(D) variety and abundance of soil in a total area

ro3 d.,.ldrd aodd

((,) ?"ori) -D/oddo ra,t-'Jd EDJrdrid $dddJ d.rd? uQdrd

(a)) ?.od) -aJoddo rotiJd ageddd a{ridc
(rJ) r-odc dgoddO a-a:,ird ?raSobOF aardrid ioaJ,,

(d) ?"t^x"rFgoddd drrdod $d drd,l sQdg

(B)

(D)

Rajasthan state
Punjab state

( ar)

(d)
udariad ua6dddOD

dorrrap od%dOd

Social value
Aesthetic value

(B)

(D)

2a. Forest (Conservation) Act launched in the year

(4 reTo (B) 1960 (c) 1e8o

irdrs (fod{6") 6aob oDoolDd ddF

(t,) oseo (a)) o6to (ai) o€'$o

(D) leeo

t.

B 7 /16

(d) o€'Fo

P.T.O.

(zr) id>a dPo,
(d) daodobr dFer,
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29. Ivory trade is related to
(A) GATT (B) Poaching

dod sdsddd) edd* ioaloQ:d

(e) d.n.ts.ts. (a) d-4rdetj

30. Project Tiger is related to

(A) In situ conservation

(C) hologqcal gardens

drO oloeadob ols{rdd, ioarcQnd?

(tr) edJ de, ioddd
(d) aard norlaaent:

3 l. Organic Nitrogen is found in
(A) Atmosphere (B) Soil

rDdo$d xadadd e-d-dod; adlld
(r,) aacdJd$ (D) d)se)D

(4 Forests

(C) Deserts

Eed,ocd.tr# ii-rietJ dDo-sh,\,.loo
(rr) eds*ddq

(ai) $d4ioardrr,

tltillIiilllll[ilill

(c) wro (D) Optional value

(d) du6"reJ.t". (d) (,ol)dob dpo6

(B) Ex situ conservation
(D) Protecting tigers present in circus

(ar)

(d)
d-od de! nodg(d

idFid0Jird d:Orld iod$td

(C) Organisms (D) Rocks

(?.i) desrlgr (d) aodrldr

(B) Grasslands

(D) Tfrndra

O dodr ard:dJ

(a) &ellJodeDrlet-)

(d) troFg

(A) Fauna of the Ocean

(B) The Flora of tJ:e land
(C) Communities and organisms interacting wit.I: one another
(D) Major ecological community of organisms witlin a particular climate zone

Dolocd, qdr

(o) ndd BdrlC)
(o) ql.oa)ol) id {creadd)
(d) nil)col)rld rrd$ de$rld ddcd df;5d ioarod

(d) t"od.: OAr{a-asaddeedd0_$J dl$d d0id idDorobrk, dea io&o

B 8116

32. Xerophytic plants are mostly found in

33. Biome is
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34. The source of enerry in an ecosystem is
(A) Sun
(C) Green plants

dHd$lf6oi:C! dr.oo

(u) dnorrr
(E dn&ni*rlrb

35. Chernobyl disaster was caused by
(A) atomic bombing
(C) terrorist attack on the reactor

?3d,o.r6$ rrd+d Bod ed)dJ.

(tr) dddDru t.rdoa.f a-dEdoOod

(rJ) ?+Jot (a.Jdd0od raoddd uedrd:o

(u) ou:$sdedo6

(rJ) uu:,oet^J

9 /16

lillltllillilil illlill!l

(B)

(D)

A,T.P.

Earth

i.tr.&.

c1,oa)

nuclear explosion

flood

(u)
(d)

(B)

(D)

36. The most important indoor air pollutant

lr-S dz$,rdDe)ddad $dohdnd daoir dJOdEadd oJDddr?

(A) So, (B) co, (c) No, (D) Hro

37. Biochemical o:<ygen demand measures
(A) Industrialpollution
(B) Air pollution
(C) Pollution capacity of eflluents
(D) Dissolved O, needed by microbes to decompose organic waste

aol-oe dS:def trEnd Bdnrod

(u) drroOr:a da0d,

(z.t) oo1)J drod,
(aJ) dnd dOoiDJ ouq d>Odrd nJ.rCrr

(d) irglorE desrlorl DJo$d oda$dd{8.od6)ieD rrriddsnd)d ddn&d cd)-uddJdt

38. The process of nutrient enrichment of water is called

(A) Eutrophication (B) Biomagnifications
(C) Respiration (D) COD

&eOd odaaod soQddo lobrt ad;od

u"robdd

(D) DolnsdD6qsdedd

(d) :,.r*4.

B

(a)) dddDsD i-o.Jet,

(d) {,Dd
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39. Soil pollution can be controlled by
(A) Afforestation (B) Deforestation
(C) Rain water runolf (D) Wind

dJsdd dDOd-Jdr &od Oobogiadrd.)t! , {-

(tr) sdctredds (D) t dt'*oad

(d) dr{ Oedr dod:{dood (d) ro€

4O. The discharge of warm water into river is called

(A) Air pollution (B) Thermal pollution
(C) Nuclear pollution (D) Soil pollution

6.:, Oedd;n dArl dnddd-r$dood srbdd

iilllffill X];fl liffililllili

(o) aao!: dnOd,

(d) ddd.Dee) d.Dodd

41. Unit of noise
(A) decibel

do.txrolDd dDd

(!,) d:,De,

42. Genetic damage is caused by
(A) Radiation
(C) Lisht

d€ dilail eqad

(rr) sEd€o

(d) ardd.)

(ar) ou{dnOd,
(d) drqd dDddd

(B) watts (C) ohms (D) calories

(D) suEf. (ri) &d* (d) tadel,oeoF6

6od erbdd

B) Thermal pollution
D) Air

(u) oJ*dDOdd

(d) nDd

43. In India endangered animals are listed in
(A) Environment Protection Act 1986

(B) Wild Life Protection Act 1972
(C) Forest Conservation Act 198O

(D) Indian Forest Act 1982 (revised)

paddd odsdozSdO_drJ aareJrid dt l qOJ,

(o) dOid iod(--a t-ad.ld 1986

(ar) doid iodg[a'a t-ad:d 1972

(d) r,dB iodgiaa uao:d l98o
(d) eDd,geob (,dm, iodgi.ie ra6)d 1982 (do{O}d}

B 10/t6
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Air Prevention ald Control of Pollution Act amended on
moll hdd $dl dDOdd 0oLrodree rao{Sdr.dBoJod ddr
(A) 1980 (B) tea7 {c) t97o

The major chemical responsible for oznne depletion is
(A) Hydrocarbon (B) CO, (C) CFC

t"d,oed uadd, drx)rsad doobod

(o) drutrgsaatsoo (D) CO, (d) CFC

46 India's confibution to world biodiversity is

$ddd des d.,Adddd ?rEdd a-reD

(A) 3o/o (B) 4o/o (C) 60/o

l|lHllillilltiiltllll

44.

45.

(D) 1e84

(D) PAN

(d) PAN

(D) 7o/o

u 47'

48

49.

50.

Nilgiri langur is seen in
(A) Eastern ghats
(C) Aravali

0con0 oort rao6 Eq rre t63r"tdr
(s) dJaJF +tJ'ls)
(ai) uoaJ€

Khaziranga national park is
(A) Ramsar site (B) Arid zone

fJapdorl ou$of, ouo-erddr

(c) oadD:Dd nC (o) drqdoo$

IUCN publishes a book called
(A) Blue data book
(C) White paper

o.olD.:rnd. noo noiolD {d03n d ddd
(.r) oco dgd Odd
(ar) *ed d r

(B)

(D)
Western ghats
Himalaya

(ar) d%$ +til.ldJ
(d) tdDoo$

(D) Desert

(d) drdrcLos,

Biodiversity helps in water-soil regime and this is
(A) Optional value (B) Aesthetic value
(C) Consumptive value (D) Ecological value

de$ dr,$drd uo - d.ra:"{,!obrl€il iaao$ *od{d sdr
(o) uobrob dioe.r, (ar) flodoJrr dfoe.r,

(d) rordd dFer, (d) saosod diDo,

(B)

(D)
Green data book
Red data book

Ba 111 16 P.T.O.

(D) dndr dqd o4d
(d) do$ dgd ddd

(C) Dryland

(ai) ?^,r? dos)
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51. Richter scale is the unit of measurement of
(A) cyclones (B) floods (C) earthquakes (D) Tsunami

odd i.ee, dDddddJara.t sdo$eu ord olnehiNa d

(u) tSodd>drd (a) 9aa (ai) CDdodd (d) dJd)$J

52. The tlree R's for effective waste management are
(A) Rivers, Rain and Roads

(B) Reduce, Reuse and Recycle

(C) Recharge, Regenerate and Recycle

(D) Reuse, Reproduce, Regenerate

o.tc SdFddolr drD& R'ri$AD

(o) O*4r ddd€ d:dl dneE (ar) dd/tt', Oolrarc ood 011d

(d) 0?.rac56F, orJddet dJdi 0r{,4 (d) ddn#{, o{BJd.odtr, ot3ddetf

ilillltililllll]il1

53. TVs, DVDs, PCs, floppies etc generate

(A) combustible waste (B)

(C) organic waste (D)

u3.$.rl$ a&.a.d?b &dl do{or8drleb o_$rid:

(er) dddaarbJ oarq

(zJ) roarr&d oauq

e-waste

nuclear waste

cu33 lDdrdJ
.)t

(ar)

(d) g0-at
o2}

e-eu%
dddD&)

54. Acid rain is caused by increase in the atmosphere concentration of
(4 O. and CO (B) SO, and NO,

(C) SO. and CO (D) CO, and CO

ed)_$dol)) -EolDrtndd * fdnd$ridddr.aj doq€ddorf,cdre$dood o)otDrflrd

(l,) 03 d).4 co (at) SO2 d}{J NO2

(d) So3 d)dr Co (d) co2 $d? cO

55. Disease caused by eating fish inhabiting mercury contaminated water is
(A) bright's disease (B) minimata disease
(C) hishomoto disease (D) osteosclerosis

d)drdFo deD&3 oeNQsatd:d exddt3odd olDJ ua@)d ?Jd8d _.
(s) dner 6Ed)d (a)) $ddDa, ua6)d
(d) &d/oe&ouf/a re6)e, (d) c:an"reolae Ledrodtr
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What is carcinogen?
(A) microbes causing infectious diseases
(B) drugs used for curing cancer
(C) drugs used for curing infectious diseases
(D) cancer causing agent

Ea:rFil.oed6r6 oodded.f
((,) -a.,eeo&ao d.eerlridd{uuot$ dDd)J neltde$rld)
(al) ardO tusedadcD sudolneM)d Edader)

(d) fDeo&reo drerirlddt rb$dBie! cudoloeffi)d EdCrlst)

(d) redd^d o)ourBDd)J +u#

57.

ilrililtlilmffifl

thermal power stations using coa.j

hospitals
(B)

(D)

Fly ash is waste from
(A) nuclear power station
(C) house hold

oiDodood 6?& aloa od% arousatu$d?

(!r) dddDa) dE DoJd

(d) rldrlOod

f?.)) dodeD a#-;od mdo dE nddrici)60 aa j Q

(d) s{gdeod

58. Fluorosis causes
(A) Chalky white teeth and bone deformities
(B) Arthritis
(C) Sponrlilitis
(D) Herpis

dp-drenr€ ood

(s) ddtreotid Ad deg'idc $Q dlnal adnd

(u) doQmd

(d) rarodelrutr

(d) di,rs

59. ISRO stands for
(A) Indian Space Research Organization
(B) Indian Science Research Organization
(C) InternationalspaceResearchOrganization
(D) InternationalscienceResearchOrganization

ISRo noaD& olDddd{ qS0Qrrgd?

(s) goao$d fICF. H?s. erlrdrdedaf

(D) qoao$d -tqoi?,fF udrdrdedd

(d) eotff @dddef io(d oitfF erri.dddedd

(d) eot d ileddde, -1,{odtsr trrirdrdedd

(
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60. Hiroshima and Nagasaki are associated with
(A) atomic bombinC F)
(C) population explosion (D)

&dnetd:o drd? oerlFDErlcb oJ.n{dd* ioaroQt"l?

(er) dddDrr) a'Dozf -;rnecj (ar)

(d) t3ddoeDd i./o.Jetr (d)

61. Present tota.l Forest area of India

{,f9d qradd dedd z"tr1gdm, {ded
(A) l2o/o (B) t5o/o

terrorist attack
poisonous gas leak

qJ osresa"oddd u!dr$
&@&o incbd

tilllHillnf,tlflflfll|lu

(C) l7o/o (D) l9o/o

62. The liggest dam in India is
(A) Tunga (B) Kali

Aaddd (,ge d.od6 sddo$cr

(l,) drori (z.t) fdd

(C) Bhakra (D) Tehri

(d) araq (d) 3do

63. Bio diesel is derived from
(A) Petroleum (B) Solar gas (C) Diesel (D) Plants

4,sd Beie, Ood ardrdd.

(s) dtlrreoobo (o) dnud g0o (ai) Acde, (d) r+

64. Biogas is a mixture of
(A) Ethane, carbon dioxide, hydrogen sulphide
(B) Methane, carbon diodde, hydrogen sulphide
(C) Carbon dioxide, carbon monoxide, water
(D) Orygen, carbon dioxide, animal waste

d.,Ad el&e) A)dJ s€;'and

(s) drCed, E-daJFd dr rrd^,d, d.,d4,edd ner"nd

(a)) $)cdedr6 aaarcd d, cd,.rd, d",Aged6r6 derdd
(d) Eaa)Fd,5 d., rrd,..,d, daairid,r, 0ed:
(d) sE^66,6, EDoFd,6 d., erd^rd, e,d od%

65. Chernobyl nuclear accident occurred in
(A) USSR (B) USA (C) Japan (D) India
dil.oeEdef ddd>ea: sdped ioC$lrd {d
(t ) d* (al) ed.>etr (rJ) r:sil (d) ?Fdd
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66. Over irrigation of farmland leads to
(A) Erosion (B) Salination
(C) Chlorination (D) Carbonisation

rrBolDd Oe@do@)od feJdod doaad"r o)otrlrt8d
(s) ndde (D) e$dedd$
(d) d.o-eOeddd (d) raardrddff

Watering the land
Loss of gradient

s.Bdafuar Oe0&od

uddd eo-.6d;$dBod

mrdddd m{
;boar ddh idrdr druJCo-sod

oaxaolr&d d$

$&dd dE

era-addd erd o iorld
9elrid{erdo iorJd

ll IXlfi llill rll ltilllllill

67 Soil erosion takes place due to
(A) l,oss of vegetation cover
(C) Grazing of animals

dJrdd iJddob edaod suotDrbdd3a'
(o) udmrodBod
(rJ) erg $eol)rsdo$od

(B)

(D)

68. The major effect of global warming is
(A) Animals will die
(B) Aquatic plants will die
(C) Crop production and yield will be increased
(D) Glaciers will melt and sea level increased

qBdreed ou@,,odd dDDd do-a$
(o) aard ra{
(d) d.,& sud.J(i{dd-edd

(u)
(d)

(ar)

(d)

(ar)

(d)

69. The main enerry source for the environment is
(A) solar enerry F) chemical energr
(C) bioelectric energr (D) electric energr

dOiddddEo$ dmenqad
(l,) n obFd dg

(d) d.,sd dq

70. Salinization is
(A) Accumulation of salts in water
(B) Accumulation of salts in food
(C) Accumulation of salts in body of anirnals
(D) Accumulation of salts in rocks

e.tdeCeddsaJodd

((,) &eDdO cdt? iorrd
(d) aDJcd dedddeHeo iorJd

(ar)

(d)

B 1slt6 P.T.O.


